
 !" #$%&'() *"+,-.(+/0 +" 1)�(/'
4'5!

6
+-"/+7
 8((%-(9 :!/4-;!/+
( <=89 1)�(/'
4'5! >?@@

 !"# $% &' %&()*+&'% &, !-)#*+&'%

.+*/ #0%&()*! 1#()! ,)'2*+&'

345665 "57489 :;<=6<>? @4?ABC5

 !"#$#%#& '( )*#+&,*#$
". /&0*1'1$
*2 3!$4&5"$#6 '( 75*
'8

/'0
+'59:6
+ ;. <=>=?@ 75*
'8. /'2*!0

&>,*$2"A  !" #$�&'()$")#*('+ ,('#*",)"�&'()$")#*('+

 !"#$%
#' -. /012 '"'3$4 *3 5163 /03 '$#'#21/1#. #7 818"
/1
 812
&221#. #. /03

3:12/3.
3 #7 2#+&/1#.2 #7 2#!3 3;&"/1#.2 
#./"1.1.5 3:'$3221#.2 *1/0 "<2#+&/3 6"+&3(

=3 "$3 1./3$32/38 1. /03 '#221<1+1/> #7 "''+>1.5 /03 !3/0#8 #7 
#.
3'/&"+ '$#<+3!?

2#+61.5( @.83$ /012 /3$! *3 &.83$2/".8 2&
0 " '$#
38&$34 1. *01
0 /03 2#+63$ 12 .#/

+1!1/38 /# /03 "&/#!"/1
 "''+1
"/1#. #7 /03 83A.1/1#. #7 /03 "<2#+&/3 6"+&34 <&/ 03


". $3 3
/ 2#!3 
"232 <"238 #. 012 !"/03!"/1
"+ ).#*+3853( B# 8# /0124 #.3 !&2/

!")3 &23 7$#! 6"$1#&2 73"/&$32 #7 /012 
#.
3'/ C .#/ #.+> 7$#! 1/2 83A.1/1#.(

DE +6F84GH
F<46

 ! "#$ %&%$' ()℄+ ,$ -!
/01$1 '$2&'34 5! 45/6-!7 4$6$'&/ "8%$4 59 $:0&"-5!4


5!"&-!-!7 "$'24 ,-"# "#$ &;45/0"$ 6&/0$< =#$'$ ,$ %&-1 &""$!"-5! 5! "#$


5!
$%"0&/ %'5;/$2>45/6-!7+ -<$< "#$ %'5
$10'$ 59 45/6-!7 ;&4$1 5! "#$ 04$ 59

"#$5'$24 ,#-
# -!65/6$ "#$ &;45/0"$ 6&/0$< ?$ &/45 4$" "#-4 2$"#51 &7&-!4" "#$

&/75'-"#2-
 2$"#51 59 45/6-!7+ -<$< "#$ %'5
$10'$ ,#-
# ;&4$4 5! 2$
#&!-
&/

04$ 59 &;45/0"$ 6&/0$ 1$@!-"-5! &!1 
5!4-1$'-!7 
&4$4 1$'-6-!7 9'52 "#$ '&!7$

59 95'20/&4A &%%/-
&;-/-"8<

 ! "#$ 
0''$!" %&%$'+ ,$ %'$4$!" 452$ $B&2%/$4 59 %'5;/$24 ,#-
# &'$

7$!$'&"$1 ;8 "#$ 1-4
044-5! 59 $B-4"$!
$ 59 45/0"-5!4 "5 "#$ 95//5,-!7 $:0&"-5!C

|f(x)| + |g(x)| = m, D)E

,#$'$ f : D1 → R+ g : D2 → R &!1 D1 ∩ D2 �= ∅ &!1 m -4 &! &';-"'&'8

'$&/ !02;$'< ?$ &'$ -!"$'$4"$1 -! "#$ %544-;-/-"8 59 &%%/8-!7 "#$ 
5!
$%"0&/

%'5;/$2>45/6-!7 2$"#51 -! '$9$'$!
$ "5 $:0&"-5!4 59 "#-4 "8%$<

 440$4 /-4"$1 ;$/5, 2&8 %'56-1$ & ;&4-4 95' ;0-/1-!7 2&"#$2&"-
&/ "&434

&!1 %'5;/$24 ,#-
#+ "#&!34 "5 "#$ 04$ 59 
5!
$%"0&/ %'5;/$2>45/6-!7 2$"#51+

&//5, 04 "5 -!"$!4$ 
'$&"-6$ 2&"#$2&"-
&/ &
"-6-"8<



 !"  !"##" $"%!&' ()*+#*,- .!-/01"

 ! "#$%&'()* +,,-$,

#$%&'( )*' +& ,-'$
* '/0' *1+0'$-, 234 /0& 0 &-)+'$-, -,)5 $6 m 7*)-,8& '- '/*

&*' -6 90)+*& -6 '/* 6+,
'$-, x → |f(x)| + |g(x)|: ;-<*9*%( $,=$
0'$-, -6 '/$&

&*' &->*'$>*& $& $>?-%'+,0'*: @/* 6-%> -6 *1+0'$-, 234 *,&+*& '/* 6-))-<$,8

?%*%*1+$&$'* 6-% *A$&'*,
* -6 &-)+'$-, '- '/$& *1+0'$-,B

 !"#$"% &'  !" f : D1 → R #$% g : D2 → R &'"( D1 ∩ D2 �= ∅ )! *'+!$

,-$
"'/$0 #$% 1!" m )! #$ #2)'"2#23 2!#1 $-4)!25 6, !7-#"'/$ 234 (#0 # 0/1-"'/$8

"(!$ m '0 # $/$$!*#"'+! $-4)!25

C-,D,*80'$9$'5 -6 '/* ,+>7*% m $& ,-' '/* &+E
$*,' 
-,=$'$-, 6-% *A$&'*,
*

-6 '/* &-)+'$-, '- *1+0'$-, 234: @/$& $& *9$=*,
*= 75 '/* 6-))-<$,8 *A0>?)*:

()*%+," &'  !" -0 
/$0'%!2 "(! !7-#"'/$

|x2 − 4| + |3x| = m.

9(! #$#130'0 /, "(! *2#:( /, "(! ,-$
"'/$ x → |x2 − 4| + |3x| ,/2 x ∈ R

%!4/$0"2#"!0 "(#" "(! +#1-!0 /, "(! ,-$
"'/$ #2! /)+'/-013 $/$$!*#"'+!5 ;! 
#$

#10/ $/"'
! "(#" "(! %'0
-00!% !7-#"'/$ %/!0 $/" (#+! 0/1-"'/$0 ,/2 0 ≤ m < 45

x

y

f(x)=|x2−4|+|3x|

1

1

 !"#$% &'

@- F,= '/* &+E
$*,' 
-,=$'$-,& 6-% *A$&'*,
* -6 0 &-)+'$-, <* &'0%' <$'/

'/* ?%--6 -6 '/* 6-))-<$,8 )*>>0:

-"%%* &'  !" f : D1 → R8 g : D2 → R #$% D1 ∩ D2 �= ∅5  !" A #$% B

%!0'*$#"! "(! ,/11/&'$* 0!"0<

A = {x ∈ D1 ∩ D2 : f(x)g(x) ≥ 0}, B = {x ∈ D1 ∩ D2 : f(x)g(x) < 0}.

9(!2!,/2!8

max(|f(x) + g(x)|, |f(x) − g(x)|) =

{

|f(x) + g(x)|, x ∈ A,

|f(x) − g(x)|, x ∈ B.



 !"#$%& '( &')*+,'(& '- !.*#+,'(& /,+0 #1&')*+! 2#)*! -*(
+,'(  !"

 !""#$ #$% x ∈ A& '($) |f(x) + g(x)| = f(x) + g(x)* +($) f(x) ,)- g(x)
,.$ )/))$0,%12$* /. |f(x) + g(x)| = −f(x) − g(x)* +($) f(x) ,)- g(x) ,.$

)$0,%12$* ,)- |f(x) − g(x)| = f(x) − g(x)* +($) f(x) ≥ g(x) /.

|f(x) − g(x)| = −f(x) + g(x)* +($) f(x) < g(x)& 3$)
$* 1% 5/66/+7 %(,%

max(|f(x) + g(x)|, |f(x) − g(x)|) = |f(x) + g(x)|.
8/. x ∈ B +$ (,2$

|f(x) + g(x)| =

{

f(x) + g(x), x ∈ B ,)- f(x) + g(x) ≥ 0,

−f(x)− g(x), x ∈ B ,)- f(x) + g(x) < 0,

,)-

|f(x) − g(x)| =

{

f(x) − g(x), x ∈ B ,)- f(x) − g(x) ≥ 0,

−f(x) + g(x), x ∈ B ,)- f(x) − g(x) < 0.

'($.$5/.$* 1% $)79$7 %(,% max(|f(x) + g(x)|, |f(x) − g(x)|| = |f(x) − g(x)|*
+(1
( $)-7 %($ :.//5&

;) :/7%$.1/. -$61<$.,%1/)7 +$ +166 =,>$ 97$ /5 %($ >)/+) 5$,%9.$ /5 %($

,<7/69%$ 2,69$ /5 .$,6 )9=<$.&

%&''( )$  !" #"$%&"#"' "(#) *+,$("- p. q &/( 0!))!1%*2 (3+#&%!* %- -#&%-4(5

|p| + |q| = max(|p + q|, |p − q|).

'($ 5/66/+1)0 %($/.$= 17 %.9$&

*+&"!&' )$ 6(& f : D1 → R. g : D2 → R #*5 D1∩D2 �= ∅ $( 2%7(* 0+*
&%!*-
#*5 )(& m $( #* #"$%&"#"' *!**(2#&%7( "(#) *+,$("9 :3+#&%!* ?"@ /#- # -!)+&%!*

%0 #*5 !*)' %0 &/("( (;%-&- &/( *+,$(" x0 ∈ D1 ∩ D2 -+
/ &/#& &/( 0!))!1%*2


!*5%&%!*- /!)5

|f(x0) + g(x0)| = m and |f(x0) − g(x0)| = m,
!"

|f(x0) + g(x0)| = m and |f(x0) − g(x0)| < m,
!"

|f(x0) + g(x0)| < m and |f(x0) − g(x0)| = m.

 !""#$ ;5 $A9,%1/) ?"@ (,7 , 7/69%1/)* %($) %($.$ $B17%7 %($ )9=<$.

x0 ∈ D1 ∩ D2 79
( %(,%

|f(x0)| + |g(x0)| = m.

;% 5/66/+7 ($.$5./= ,)- 5./= 6$==,  %(,%

max(|f(x0) + g(x0)|, |f(x0) − g(x0)|) = m, ? @

,)-* 1) 
/)7$A9$)
$* 
/)-1%1/)7 
/)%,1)$- 1) %($ %($717 /5 %($ 6$- %($/.$=&



 !  !"##" $"%!&' ()*+#*,- .!-/01"

"#$ %& '(#&%)# $*+$ $*#(# #,-&$& x0 ∈ D1 ∩ D2 .*-
* &+$-&0#& 1-&2%3
$-43

45 
431-$-43& 5(4) $*# 6#1 $*#4(#)7 8*%&9 #:%+$-43 ; < *461& +31 43 +

4%3$

45 6#))+  .# (#
#-=# $*+$ x0 -& $*# &46%$-43 45 #:%+$-43 ;><7

?3 $*# :%4$#1 '+'#( @>℄9 .# 
43&-1#( #:%+$-43 ;>< -3 .*-
* 5%3
$-43& f +31

g &+$-&5B $*# 
431-$-43

∃ c∈R∀x∈D1∩D2
|f(x) − g(x)| = c,

+31 $*# 5%3
$-43 |f(x) + g(x)| -& C4%316#&& 5(4) $*# $4' -3 -$& 14)+-37 8*#

C#64. $*#4(#) -& $*# D#3#(+6-E+$-43 45 $*#4(#) ! 5(4) $*# )#3$-43#1 '+'#(7

 !"#$"% &'  !" f : D1 → R# g : D2 → R $%& D1 ∩ D2 �= ∅ '! ()*!%

+,%
").%/# h1(x) = |f(x) + g(x)|# h2(x) = |f(x) − g(x)|# x ∈ D1 ∩ D2 $%& 0!"

m '! $% $1')"1$12 %.%%!($")*! 1!$0 %,3'!14

$5 6+
∃ c∈R+∀x∈D1∩D2

|f(x) − g(x)| = c ;F<

$%& m ∈ h1(D1 ∩ D2)# 7!%
! !8,$").% ;>< 7$/ $ /.0,").% )+ $%& .%02 )+

c ≤ m. ;G<

'5 6+
∃ c∈R+∀x∈D1∩D2

|f(x) + g(x)| = c ;!<

$%& m ∈ h2(D1 ∩ D2)# 7!%
! !8,$").% ;>< 7$/ $ /.0,").% )+ $%& .%02 )+

"7! )%!8,$0)"2 9:5 7.0&/4

($##)'

+< "#$ %& +&&%)# $*+$ #:%+$-43 ;>< *+& $*# &46%$-43 x0 ∈ D1 ∩ D2. 8*#39

CB 6#))+  +31 
431-$-43 ;F<9 .# *+=#

max(|f(x0) + g(x0)|, c) = m,

*#3
# -3#:%+6-$B ;G< *461&7 "#$ %& +&&%)# $*+$ -3#:%+6-$B ;G< *461&7

H(4) ;><9 6#))+&  +31 ;F< .# *+=#

|f(x)| + |g(x)| = max(|f(x) + g(x)|, c) = m.

I#3
#9 5(4) ;G< .# (#
#-=# $*# -3#:%+6-$B |f(x) + g(x)| ≤ m. 8*# 5+
$

$*+$ m ∈ h1(D1 ∩D2) &*4.& $*+$ $*#(# #,-&$& $*# 3%)C#( x0 ∈ D1 ∩D2

.*-
* &+$-&0#& #:%+$-43 ;><7

C< 8*# '(445 45 $*-& '+($ 45 $*# $*#4(#) -& 
+((-#1 4%$ -3 +3+64D-
+6 5+&*-437



 !"#$%& '( &')*+,'(& '- !.*#+,'(& /,+0 #1&')*+! 2#)*! -*(
+,'(  !"

#$$%&'() *"+ ,- *!+. '/ 0,11,2$ 0-,& /34,-4& " /35/ 46%5/',( *7+ 
5( 94

-4:15
4; 9< /34 46%5/',(

|f(x) − g(x)| = m ,- |f(x) + g(x)| = m.

=4/ %$ 
,($';4- /34 0,11,2'() 4>5&:14?

 !"#$%& '(

 ! "#$ $%& '()* |ax+b|+|ax+c| = m+ ,#$-$ a+ b+ c+  *. m  -$ /(0$* -$ 1 *&23$-4+

# 4  4)1&'()* )* '#$ 4'-$*/'# )5 '#$)-$2 6 ! (5  *. )*17 (5 |b − c| ≤ m. "#&4+

(' 
 * 3$ -$91 
$. 37 '#$ $%& '()* |2ax + b + c| = m :
)29 -$ ;<℄!>

3! "#$ $%& '()* | − x2| + | − x2 + 2| = m # 4  4)1&'()* )* '#$ 4'-$*/'# )5

'#$)-$2 63! (5  *. )*17 (5 m ≥ 2. "#&4+ (' 
 * 3$ -$91 
$. 37 '#$ $%& '()*

| − 2x2 − 2| = m.


! "#$)-$2 6 .)$4 *)' .$'$-2(* '$ '#$ *&23$- )5 4)1&'()*4 )5 $%& '()* <> ?)-

$@ 291$+ '#$ $%& '()* | sinx| + | sin x + 2| = m # 4 (*A*('$17 2 *7 4)1&'()*4

5)- m = 2 :4$$ ?(/&-$ B!>

x

y

f(x)=| sin x|+| sin x+2|

π
2

1

)*+,-& '(

C* ?(/&-$ B+ '#$ /- 9# )5 '#$ 5&*
'()* f(x) = | sin x|+ | sin x + 2| (4 9-$4$*'$.>
"#$ 
)*.('()* 5)- $@(4'$*
$ )5 4)1&'()* ') '#$ 
)*4(.$-$. $%& '()* 
 **)' 3$

.$4
-(3$. 37 2$ *4 )5 '#$)-$2 6+ 3$
 &4$ '#$  34)1&'$ 0 1&$4 )5 '#$ 4&2  *.

'#$ .(D$-$*
$ )5 '#$ 5&*
'()*4  -$ *)' 3)&*.1$44> E(2&1' *$)&417+ '#(4 $%& '()*


 * 3$ -$91 
$. 37 '#$ $%& '()* |2 sin(x) + 2| = m (5 m ∈ [2, 4].

#/ /34 4(; 24 2'11 $,1@4 /34 :-,914& ,0 4>'$/4(
4 ,0 $,1%/',($ /, 46%5/',(

*7+ 2'/3 5;;'/',(51 5$$%&:/',(?

 !"#$"% &'  !" f : D1 → R# g : D2 → R $%& D1∩D2 �= ∅ '! ()*!% +,%
").%/
$%& 0!" m $%& k '! $1')"1$12 3./)")*! 1!$0 %,4'!1/5 67,$").% *7+ 8$/ $ /.0,").%

98)
8 /$")/:!/ "8! 
.%&)").%

f2(x) + g2(x) = k2 *A+

)+ $%& .%02 )+ m ∈ [k, k
√

2]5



 !"  !"##" $"%!&' ()*+#*,- .!-/01"

 !""#$ #$%& '() *+, '-) ./ %01*2+ 13/ /45*12%+

|f(x)| +
√

k2 − f2(x) = m,

*665&2+7 13*1 |f(x)| ≤ k. 8/+
/ ./ 7/1 13/ /45*12%+

2f2(x) − 2m|f(x)| + m2 − k2 = 0,

.32
3 3*6 * 6%:512%+ ;%$ m ≤ k
√

2. <%$/%=/$> 2; ./ 645*$/ /45*12%+ '-) *+,

1*?/ 2+1% *

%5+1 
%+,212%+ '()> 13/+ ./ %01*2+ 13*1 m ≥ k, .32
3 /+,6 13/

@$%%; %; 13/ 13/%$/&A

B/1 56 +%12
/ 13*1 2; f(x) = sin x *+, g(x) = cos x> 13/+ k = 1. C3/

;%::%.2+7 
%+
:562%+ 26 ,/$2=/, ;$%& 13/%$/& "A

%"&
()*+"& ,$  !" "#$%&'()

| sin x| + | cos x| = m

!%* % *(+$&'()* ', %)- ()+. ', m ∈ [1,
√

2]/

#$%& 
%+6:562%+ - 21 ;%::%.6 13*1 13/ 6/1 [1,
√

2] 26 13/ 6/1 %; =*:5/6 %; 13/

;5+
12%+ x → | sin x|+ | cos x|A C326 ;*
1 &*D /E@:*2+ 13/ ;$/45/+1 *@@/*$*+
/

%; 13/ ;%::%.2+7 1*6? 2+ &*+D %; 13/ 1*6?6 
%::/
12%+6F

0(+1" &!" "#$%&'()

| sin2 x| + | cos2 x| =
√

2.

 ! "#$$%&'

G665/6 @$/6/+1/, 2+ 1326 @*@/$ *+, 6%&/ 62&2:*$ 2665/6 ./$/ 
%+62,/$/, *1 
:*66

.213 615,/+16 %; <*13/&*12
6 C/*
32+7 #*
5:1DA H06/$=*12%+6 %; 615,/+16I

.%$? *+, $/6/*$
3/6 
*$$2/, %51 2+ %13/$ 7$%5@6 '6// J-℄) 2+,2
*1/ 13*1 13/$/

%

5$ 7$/*1 ,2L
5:12/6 %; :/*$+/$6 2+ ;%$&5:*12%+ %; 3D@%13/6/6> 2+
:5,2+7 13/

+/
/66*$D 
%+,212%+6 *+, 65L
2/+1 
%+,212%+6 ;%$ $/:/=*+1 ;*
16A M5$=/D/,

615,/+16 3*=/ 
%+62,/$/, /45*12%+6 &*2+:D 0D @5112+7 @*$12
5:*$ =*:5/6 2+1%

;%$&5:*6A C326 1D@/ %; *11215,/ 
*+ 0/ /E@:*2+/, 0D 6%&/ &*13/&*12
*: 2&N

&*15$21D %; 615,/+16 2+ 13/ O/:, %; 7/+/$*: &*13/&*12
*: $/*6%+2+76A

()*)&)+
)-

J-℄ PA <*Q%$> RA S%.TU?*A S/.+/ @$%0:/&D ,D,*?1D
U+/ U.2TU*+/ U @%N

Q�
2/& .*$1%W
2 0/U.U7:�,+/QA 2))%+"* 2
%-"4'%" 5%"-%6(6'
%" 78%9


(1'")*'* 0&$-'% 2- :'-%
&'
%4 ;%&!"4%&'
%" 5"8&')")&'% G> X(> -(XN-Y!>

 ZZ(A


